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w . (i) wWmRaEd g ram gl swErd )
4 Note: All Questions are compulsory and each question is of I mark.
(i) T Tl § s & & Rty F st srary gt arr &
Only English version is valid in case of difference in both the languages.
TAEGEH 75§ TR0 ¥ 1. Example of integrating type
(a) THET instrument is
(b) eeieT (a) Ammeter
e (b) Voltmeter
©) (c) Ohmmeter
(d) JerteT

V-2

o 9T HEgH | wedl few uig @
T g T ?

(a) T

(b) @

(c) ugfafmm

(d) =R
R T w6 FUsH! ST e W
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(a) FAD.C.W
(b) FAAC T
(¢) AC.¥ DC.ZH T
(d) FERYA T

(d) Energymeter

In Eddy current damping, the disc
should be made of which metal ?
(a) Iron

(b) Copper
(¢) Aluminium
(d} Tungsten

Permanent magnet moving coil
instrument works on

(a) Only D.C.

(b) OnlyAC.

(¢) BothA.C.&D.C.
(d) On Eddy current
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(a) =T FEEEA

(b) I SHEHEA

(c) e e

(d) w9 HEE

= At A % fee wed gagE iy
¥

(a) ot fye foer

(b) e e

(¢) GieeHietuder fifir

(d ®R

TR WK 3 A9 ST H T
Iwg A

(a) WM YT &g

(b) ZFEH U &Y

(c) T IUEOT 8]

(d) Wi TE AR ITHTT B

W P 9 FOIE! FHIET B T
i & forg wa R e &

(a) =

(b) wiewmR

(c) o ofionfim

(d) W 9 HE T

A set of readings has a wide ran
and therefore it has

(a) High Accuracy

(b) Low Accuracy

(¢) Low Precision

(d) High Precision

From the point of view of safety,
resistance of earthing electr
should be

(a) Low

(b) Medium

(c) High

(d) It’s value of resistance does

affect safety.

For getting best results, indicati
instruments should have damping
(a) Underdamped

(b) Critical damped

(¢) Over damped

(d) None of the above

Best method of measurement of lo
resistance is

(a) Kelvin Double Bridge

(b) Wheatstone Bridge

(c) Voltmeter-Ammeter method
(d) Megger

Dynamometer type of instrume

finds its major use as

(a) Standard instrument only

(b) Transfer instrument only

{¢) Indicating instrument only

(d) Standard and - transfi
instrument

For range extension of permaner
magnet moving coil type ammete
we use

(a) Shunt

(b) Multiplier

(c) Potential transfer

(d}) None of the above
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=M= 12/13.8%, V = 27.8 £29.7°
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a) 2.317 ohm

by 0.634 ohm

o) 2.22 ohm

3y =222 ohm
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12.

13.

14.

2041

When a potentiometer is used for
measurement of voltage of an
unknown  source, the power
consumed in the circuit of the
unknown  source under null
conditions

{(a) 1is very high

(b) ishigh

(c) is small

(d) s zero

The readings of a polar type A.C.
potentiometer ~ when  measuring
reactance of a coil are I = 12./13.8°,
V = 27.84£29.7°. The reactance of the
coil is

(a) 2.317 ohm

(b) 0.634 ohm

(c) 2.22ohm

(d) -2.22 ohm

In A.C. potentiometers to reduce
electric heating effect, the resistance
coil wire is made from

(a) Manganin
(b) Eureka

(¢) Platinum
(d) Aluminium

Maxwell’s  inductance-capacitance
bridge is used for measurement of
inductance of

(a) low Q-coil

(b) medium Q-coil

(c) high Q-coil

{d) low and medium Q-coils

Frequency can be measured by using
(a) Maxwell’s Bridge

(b) Schering Bridge

(c) Heaviside Campbell Bridge

(d) Wein’s Bridge
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15.

16.

17.

18.

19.
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arafes Wiy 500 3 &, Ter o7 whel
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(a) 5 micro watt

(b) 5 milli watt

(¢) 5 watt

(d) 0.5 micro watt
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19.
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A PMMC meter has an internal F.

resistance of 500 ohm and the current :
required for its full scale deflection is ;
100 micro ampere. The power
consumed by the meter is

(a) 5 micro watt
(b) 5 milli watt

(c) 5 watt &
(d) 0.5 micro watt %

Electronic voltmeter which use 3K

rectifiers employ negative feedback. -

This is done

(a) to increase the overall gain

(b) to improve stability

(c) to overcome non-linearity of
diodes b

(d) none of the above ;

' |

An aquadag is used in a CRO to

collect

(a) Primary electrons

(b) Secondary emission electrons
(c) Both(a)and (b)

(d) None of the above

The source of emission of electrons
inaCRTis

(a) PN junction diode
(b) a barjum and strontium oxide
coated cathode

accelerating anodes
post accelerating anodes

()
(d)

Purely mechanical instruments cannot
be used for dynamic measurements
because they have

{a) high inertia
(b)

large time constant

(c)
(d)

higher response time
all of the above
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(c) s Foee oy ¥ diee,
YR & Vi T

(d) Iutrwr ] o ol

YA M Tt giEege #, ¥ W
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(a) W W E0° W

(b) i 3T @ 45° T

(c) Ui W ¥ 90° W

(d) '_a'mzmﬁsowr

et & R B i e ZegER ¥ 0
(a TAM

(b) whrdy Ziog

() TROENRTF TG

(d) WivT Ziaggat

(5)

20.

21.

22.

23.

24.

The usage of electronic instruments is
becoming more extensive because
they have

(a) ahigh sensitivity and reliability

(b) a fast response and
compatibility  with  digital
computers

(c) the capability to respond to
signals from remote places

(d) all of the above

A transducer converts

(a) mechanical energy into
electrical energy

(b) mechanical displacement into
electrical energy

(c) electrical energy into

mechanical energy :
(d) one form of energy into another
form of energy

The burden of C.T. is expressed in

terms of

(a) Secondary winding current

(b) VA rating of transformer

(c) Voltage, current and power
factor of secondary winding
circuit.

(d) None of the above

In strain gauge, torque transducers,
the strain gauges should be mounted
at

(a) 0°to the shaft axis

(b) at 45° to shaft axis

(c) 90° to shaft axis

(d) ©60° to shaft axis

Which of the following is an active
transducer ?

(a) Strain gauge

(b) Resistance transducer

(c) Photovoltaic transducer
(d) Inductive transducer
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25. uh CT &t Wm 100/5 A ¥ | o=
I AN F YT § g @ ae
FAE 1 AT 0.6 A ® 79 S0l FERS

¥[E WY & & RS uR R S s
(a) 20.12 (b) 202
() 20 (@ 200

26. AR A[UE WA N F AT g F
SRR 9/ &
(@ 1+2Ap/p
) 1+2v
TET p — Wi
R - ufey
y — QTSR 39T
D - &7 5 %7 &Ry

27. ey favermrdt # ey why 81 o
(a) Qleen & 917 I

(b)  GIERT 1 AT HH
(c) oRfEsa %1 o= =y

(d) FeHaHT

1+2AR/R
1+2AD/D

(b
(d)

28. iRy emiier # 30 °C 97 wh|y 5
AT T 60 °C W 6.5 W ¥ | Ay
g ufierda srmm aer s At 45 o
W iRy A1 Ui & W e
(a) 0.009/°C (b) 0.0087/°C
(¢) 0.0085°C (d) 0.01/°C

29, | T ZeegaY ¥ =graw faenoq oo
T B Ay 2

(a) lcm (b) 1mm

(€) 1um (d) 1x10712m
30. R % 39Em SR Ham F g i o

(@) =1 o9 % vy

(b) wEH AR F uiey

(c) 3% A A1 FETeTE] & WY

(d) ISR wE T

(6)

25.

26.

27.

28.

29.

30.
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A CT has a rating of 100/5 A. its
magnetising and loss components of
the exciting current are 1 A and 0.6 A
respectively and secondary winding

burden is purely resistive, its
transformation ratio at rated current is
(a) 20.12 by 20.2
(c) 20 (dy 200

For wire wound strain gauge, the
approximate value of gauge factor is

(a) 1+2Aplp (b)
{c) 1+2v (d)
Where p - resistivity

R — Resistance

v — Poisson’s ratio

D — Diameter of strain gauge

14+2ADMD

In a resistance potentiometer high
value of resistance leads to

(a) high value of sensitivity

(b) low value of sensitivity

(c) low value of non-linearity

(d) low value of error

1+2ARR ﬁ

The resistance of a thermometer is
5 ohm at 30 °C and 6.5 ohm at 60 °C.
Using linear approximation, the value
of resistance temperature coefficient
at 45 °C

(ay 0.009/°C
(c) 0.0085/°C

0.0087/°C
0.01/°C

(b)
(d)

What is the order of minimum
displacement that can be measured
with capacitive transducers ?

(@) lcm (b) 1mm

() 1um (dy 1x1012m

A megger is used for measurement of

(a) low valued resistance

(b) medium valued resistance

(c) high wvalue or insulation
resistance

none of the above

(d)

(R
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Note : Question No. 1 is compulsory, answer any five questions from the remaining.

(i) Fe9% F¥ & QW YTl @} FHAR U G BT BT |
Solve all parts of a question consecutively together.
(iii) 9P T % 74 75 T AR AT
Start each question on a fresh page.
(iv) o srs F s g @ Rafy 3 siash srgar 8w &

Only English version is valid in case of difference in both the languages.

1. (i) W9 T TN F GUE ARG FRY |
Draw the block diagram of Instrumentation system.
(i) T v TR | S T i |
Differentiate between ‘accurcy’ and ‘Precision’.
(i)  STERE YN R 2
What is Piezoelectric effect ?
(iv) & T 3 HEvEH WUROT FHiE0T S ey |
Write the necessary general equation for bridge balance.
(v) TUFIOT AT S GRS |

Define the transformation ratio. (2x5)

2. () UREREH ¥ afieer w5 afadr avi S
Describe in detail the classification of transducer.

(i) i iR & fafa=r = fagrat @ awem |

Explain different working principles of capacitive transducers. (6x2)

) P.T.O.
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3. Frefatas oo 49 & @rey far et SR Ieae srifaty oo Iui @ aoi i ) w

Describe the working principle, construction and application of following Instruments
with neat diagram.
(i) o AT WET I7T (FE T TER)
Moving Iron type Instrument (any one type)
(i) doreHdIvE
PMMC Instrument (6x2)

4. () AR % wes faz TR o wafafy w el S |
Describe working of Megger with the help of neat diagram.
(i) T @ fax w5 wEEe ¥ sttt M & fae di 9 # aue S

Describe the Wein's bridge for frequency measurement with the help of neat

diagram. (6x2)
5. () Fga gEeE vaw wwd S ST T9T HETOIE THEE | |
Explain the construction and working of electromagnetic flowmeter. -
(i) wegife aeerdie & wndt @t Fvi FiRT ) B
Describe the advantage of electronic voltmeter, (6x2)

6. (i) T ufrig =t AR & fag Hfeam gee A @i faer & wwemg |
Explain in details Kelvin’s double bridge for measurement of low reistance.
(i) wremwan w7 | e, ¥ i swai wifeg
What is CRO ? Write the various application of CRO. (6x2)

7. () Toeg Ao SUEA W SAMROT Wik SR BT |
Classify electrical measuring instruments with examples.
(i) I WER & AR FUSier faphy W # oo = v Hife | W e &
T I Hiy |
Explain the construction of bonded type wire wound strain gauge. Derive the
expression for gauge factror. (6x2}

8. Froaw & et ot o femivrd fufew
Write short notes on any two of the following :
(i) I Y FeHRT
Dynamometer type Wattmeter
(i) feewr 2wicFReR
D.C. Techo generator
(iii) 3 e
Ohmmeter




